
5 4 3 2 1

SINGLE SAND/WATER BOWLSINGLE SAND/WATER BOWLSINGLE SAND/WATER BOWLSINGLE SAND/WATER BOWL 902-806-S902-806-S902-806-S902-806-S

4 5

2 1

DETAIL B
Typ  Pls

CCCC 2

1

BBBB

3

CCCC

9

12

2
11

10

DETAIL C

ITEM NO.
PART 
NUMBER

DESCRIPTION QTY.

1 903-822 20-1/4" LEG 4

2 904-801 Flower for Sand & Water Bowl 1

3 435-801 Bubble for Sand & Water Bowl 1

4 126-708 3/8" x 2 1/4" Button Pin SS 4

5 316-601 3/8" Flat Washer 4

6 226-602 3/8" Nylon Lock Nut 8

7 126-701 3/8" x 1-1/4" Buttonhead Bolt 8

8 316-601 3/8" Flat Washer 16

9 905-806 PVC Bushing 3/4" 1

10 905-807 PVC Cap 3/4" 1

11 905-808 Conduit Lock Nut 3/4" 1

12 905-809 Tip Toe Bath Washer 1

78

3

2

8 6

DETAIL A
Typ 8 Pls




